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(DBC 31)
ASSIGNMENT 1

B.Com. DEGREE EXAMINATION, DECEMBER 2020.
Third Year

BUSINESS LAWS
MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

Valid contract.

OGRD sP0TE.
™ (5}

Caveat emptor.

5365 JoeTB.

Bailor.

Bodoerd.

District forum.

&e;: 0.

Conditional sales.

SEBOE® EES 5980,

Minors contracts.
DAY sP01eTPEIe0.

o~ ™ [o3]
Sub agent.

8 Doesed.

"All contracts are agreements, but all agreements are not contracts" — Explain.

"90@95&)@6‘? o) a,;’%)ocs"éﬁ MR 2,5))0T°R) Q) SO0 5" - JHB0N0&.



10.

11.

12.

What are the rules relating to remedies to breach of contract?

50078 Q0N SO0V HBIEDNBIS?

What are the different ways for creation and termination of an agency contracts?

DBY) S0y HRAVEAE BB EOR0DHEDS 2D HrTren 9HBoBHOE.

What are the rights of unpaid Vendor?

3903 35D (8B Boog), T 0 DI?

Doctorine of ultra-vires.

o D8 drrosho.
Q0 (o)

2 (DBC 31)
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(DBC 31)
ASSIGNMENT 2

B.Com. DEGREE EXAMINATION, DECEMBER 2020.
Third Year

BUSINESS LAWS
MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

. Explain the legal provisions with reference to acceptance and consideration.

ASEYS 0B (IHFOH By B8 BowoE DBOEHOR) JHBoBHOE.

Write about consumer protection act 1986.

DOBI RS0 HB8EEs W0 1986 — 2HBoHok.

Describe the appointment, removal of a company director.

@85 DAITTHEI, SR BaAso ;’)géo@éo DHBoWN0G.

What are the different ways for discharge of contract?

SP0RIPEIE HITVH) DO DG XJC@SéJe)FéJ DHB0NO&.

"A contract with a minor is void-ab-initio" — Explain.

WIGOE" BNE™Y SP0erg) DY - 5BoDod.

What are the different ways for winding up of a company?

X)oé)?éo H0TR00ER8 90BN DD DITO DHB0HO&.

3 (DBC 31)
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ASSIGNMENT 1

B.Com. DEGREE EXAMINATION, DECEMBER 2020.

Third Year

INCOME TAX AND PRACTICAL AUDITING
MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

Rights of auditor.

3608 ToE, 0.

Fair report.

DH0DB DB,

Window dressing.

Ko, (9659,

Internal check.

0BHEH BIP.

Mention the objects and advantages of an audit.

565 Bo¥); Pgosren HoBA [FBIrETes @0Hok.

Vouching of cash receipts — Explain.

DK DAY By, 8,200 9HBoBOBW.

Discuss the qualification of an Auditor.

33605 B, ©8BOK ©8yowod.

Write about the preparation of an Audit report.

3365 DDBED) HOAIT S B AR P0G,

(DBC 32)



10.

11.

12.

Deduction from income from house property.

)38 B00G AIIF0D HRoDHev.

Income.

océ.

Short term capital gains.

ANTOE SoTr0 RN ©gren.

Sec 80 C deduction.

255 80 C (35750 BRoHeo.



(DBC 32)
ASSIGNMENT 2

B.Com. DEGREE EXAMINATION, DECEMBER 2020.
Third Year

INCOME TAX AND PRACTICAL AUDITING
MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

1. How to determine the residential status of an assessee?

@R B0s), DTS BIHBOR DE0N0D G0 008,

2. Explain the set-off and carry-forward of losses.

"5350 258 080K 50000% SED D" 80D 58090

3.  From the following details compute the income from salary :
Basic pay Rs. 4,40,000 DA Rs. 2,00,000 (Including 60% of retirement budget)

HRA Rs. 35,000, he lives in his own house. He contributes RPF Rs. 25,000 and some amount
contributes by employee. He enjoys motor car benefit by his employer Rs. 50,000 but he is
using only office purpose.

808 d50°0E BBO H00d STOSrR) 88,0008 DreIBHO B, 4,40,000 B 50 S
2,00,000 (&&°§R 285080 BBrresego 60% S0d &yB). a0t @ @O 8. 35,000. b rod
083" DHVRTYE. K080 B PF arardy adoddnd dwdo 8. 25,000 & 3o a6
AeBI"RY EI°G BBODROTCE. BEGE DIrertd 5°E DEODOITR) EEYOBERINE. TDECWD YK EI°.

50,000. 8RR &0 &SBITOE DAAIRITED.

4.  Calculate the income from house property owned by Mr. Rao for the assessment year
2017-18:

Municipal value Rs. 60,000, fair rental value Rs. 90,000. Rent received per month Rs. 10,000.
The house was vacant for one month. Outstanding municipal taxes Rs. 3,000. Give Fire
Insurance premium paid Rs. 1,000.

2017-18 33y X)%"Cfsa QODEYEINIL BIAOD DHEH00 00& 3, oD SIAVOR Kq)?’.fss_’roo J00& esTeaHdL
B8),09H0.
KQ)‘(PO B, é\)\)g)oo‘/)eg e &e. 60,000 Wéoi)?gs)_?é eag 8o°. 90,000. 395 ol eag o°. 10,000.

Kyro 2.8 B0 i 8. DPoDsedd SIS Shyed &, 3,000. DPodd of) HA BXDO

&oe. 1,000.



10.

ASSIGNMENT 1
B.Com. DEGREE EXAMINATION, DECEMBER 2020.
Third Year
COST AND MANAGEMENT ACCOUNTING
MAXIMUM MARKS : 30

ANSWER ALL QUESTIONS

Cost accounting Vs Management accounting.

svg £98°¢30R 08050 DJIER0eD 98 0e30RO BB 0wIBN0.

Economic Order Quantity (EOQ)
&smf’t’.g)"’éogé SBX0eea0

Objectives of financial statements.

e85 FRIARSS) aéomsﬁao

Essentials of Good wage system.

2000 e Z)(c‘,g@ QB8 SIS0

Escalation clause and Retention money.

D, BA® Sper BTN BTN SKed

Allocation of overheads

$8°§ H5are Beroo)

Explain any three profitability Ratios
AP S0°E EPFTADE Do DSBosod.

Trend analysis

DGO DPHes (195y%e DPAes)

Define Cost accounting? Explain its objectives and advantages.

5°Q (S509) @F°e3on AGDoBOGE? T°d FOLreD B HAB TR dHBosod.

What are the advantages and disadvantages of Ratio analysis?

DR IFier B, [BATHTen $08aw 58een (Sa°) Saren 2?2

Arun

(DBC33)



11.

From the following particulars calculate the earning of workman under Halsey and

Rovan plan.

Working hours in a week - 48

Hourly rate - Rs. 80

Piece rate - Rs. 35

Standard time per piece - 20 minutes
Standard Production - 120 pieces per week
Actual production per week - 150 pieces.

808 DIBS0® 00 2.8 IS 2.8 TV HoBBR FSy HEEB0 BS DR

oo 88 0506.

12.

TS50658 HAKoLIeD - 48

Kook D550 - 8r.80
HoBew - &~.35

2.8 DL GEYE OB — 20 doren
TO°R8 B G ~ 120 ddoen
TS’ TR 65 — 150 %0en

Prepare Cost sheet showing

(a) Cost of material used

(b) Prime Cost

(¢) Works Cost

(d) Cost of Production

(e) Percentage of works overheads to productive wages

(f) Percentage of general overheads to works cost.

Rs.
Stock of Material (1-1-2017) 10,000
Stock of finished goods (1-1-2017) 25,500
Raw material purchased 2,90,000
Productive wages 1,95,000
Sales 6,06,000
Stock of materials (31-12-2017) 12,500
Works overhead 43,000
Office and general expenses 36,000
Stock of finished goods (31-12-2017)| 24,000

808 DST°0R WITHET SOHIBBED S Babod.
(@) DIETRODS HeSBAHES Hgobisn

(b) P08 Sgao

(c) 586 N 8550500

(d) %é&@ 85502500

(€)  BESE JsToen H5°E D H5aHs By, Fo

() 5D DGODI0NH Fegres HE°K D50 BovE), FEo

2

Arun
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&oe.
6380y dox (1.1.2017) 10,000
I8 @00d S deog (1.1.2017) 25,500
oM B S0EITET e 2,90,000
eS8 IBToe0 1,95,000
ea;ﬁoés*’e)o 6,06,000
6380y dog (31-12-2017) 12,500
5 $8°%, H5ahs00 43,000
3D DBALL FGEes PNV 36,000
I8 oS SKE deg (31.12.2017) | 24,000

3 (DBC33)



(DBC33)

ASSIGNMENT 2
B.Com. DEGREE EXAMINATION, DECEMBER 2020.
Third Year
COST AND MANAGEMENT ACCOUNTING
MAXIMUM MARKS : 30

ANSWER ALL QUESTIONS

1. Avantika & Co have three Production departments and two service departments.

Production departments | Service departments
Departments A B C X Y
Overheads 3000 2000 1000 234 300

The company decided to charge the service departments cost on the basis of
following percentages:

Departments | A B C X Y
Service . . . )
Dept-X : 20% | 40% | 30% | - | 10%
Service . . . )
Dept-Y: 40% | 20% | 20% | 20%

Create a report the expenses of service department may be apportioned with the
help of simultaneous equation method.

©3088 & S0 B &B)B Doy, Botkh VT JgrTresy SORAINE. LIBIE)
5093 Soirore S58oBAgon &3)8.

¢85y8 Derrren R EVa IV
Derrdn | A B C X Y
858308y | 3000 | 2000 | 1000 | 234 | 300

DT DeTeren PENO TEO FAIBE BILIDFore T8 Bard.
DeIereen A B C X Y
DT[N0
-X:
DTDLFB0
-Y:

20% | 40% | 30% | - 10%

40% | 20% | 20% | 20%

T Evitats) IO IV G DgrTred TV JIDESeT DE8 argoe e B
DIBES $057°8) DoHob.

Arun
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2.

From the following balance sheets of X Ltd prepare common size balance sheet.

Balance Sheet

Arun

Liabilities 2016 2017 Assets 2016 2017
Share Capital 50,000 90,000 Land & Building 80,000 40,000
Reserve fund 1,20,000 70,000 Plant 20,000 80,000
Secured loans 20,000 25,000 Investments 5,000 10,000
Unsecured loans 10,000 15,000 Stock 80,000 60,000
Creditors 25,000 20,000 Debtors 40,000 30,000
Bills payable 10,000 10,000 Cash 10,000 10,000
2,35,000 2,30,000 2,35,000 2,30,000

X 920638 (808 5 ey056de 3008 HITS $BAI°E €33 ©Dpo G S Bahod.

9, L 13
=0 &%)0)30 o)é

&93/)0)300 2016 2017 e300 2016 2017
Jrer Saregso 50,000 90,000 07, Fdcew 80,000 40,000
Bastdg DG 1,20,000 70,000 L0 20,000 80,000
S verey 20,000 95,000 ePEIen 5,000 10,000
SF0S 2avescen 10,000 15,000 IO 80,000 60,000
EXVEITTOBED 25,000 20,000 0L 40,000 30,000
3oHDeyen 10,000 10,000 K 10,000 10,000

2,35,000  2,30,000 2,35,000  2,30,000

The following direct costs were incurred an job 123 of XY Ltd.
Materials : 6010

Wages :

Department A 60 hours @ 30 per unit
Department B 40 hours @ 20 per unit
Department C 20 hours @ 50 per unit

overhead for these three departments were estimated as follows:

Variable overheads :

Department A - Rs.15,000 for 1500 labour hours
Department B - Rs.4,000 for 200 labour hours
Department C - Rs.12,000 for 300 labour hours

Fixed over head : Estimated at Rs.40,000 for 2000 normal working hours.

(DBC33)



Arun

You are required to calculate the cost of job No.123 and Calculate the price to give

profit of 25% on selling price.

XY d08E ooy, & J0ath 123 (9egE, H5057en Sa8oBDome e :
;i»&écs"q;en : 6010

Jesren :

A Deeio 60 Kotoen Koo 30

B degeifo 40 Koeoen Koo 20

C degeifo 20 Koeoen Koeosd 50
£.5852r& (Bo8E0TT ©0ST° DT

SED 8,536 & :

A dzreiio 1500 308 Koewesd 15,000

B deperio 200 @08 Koeoos 4,000

C dzperio 300 B8 Koewesd 12,000

9%)6 8.56& :

2000 DepeSes D Koeresd 40,000/- T e90S3T° DTS, eaéoééo B8 256% e)erf()& 90I°
7 R0 123 G, $E ER"H0E.

Prepare stores ledger under FIFO method and LIFO method.

2007
Jan 1| Opening stock | 200 unit @ 2 per unit
3| Receipts 100 unit @ 1 per unit
4| Issued 250 units
8| Receipts 100 units @ 2 per unit
14| Receipts 50 units @ 4 per unit
20| Issued 120 units
24| Receipts 70 units @ 3 per unit
28| Issued 60 units

81808 dSoren od) FIFO K)g@ S08ato LIFO ;’)gé’?f‘() X)B&oxﬁo&.

2007
B3B8 1| [De808S SEH | 9% 200 AKHueey 18 8. 2/~
3| S3oeey) 100 05o0°Re, 05Hoeed 18 8o°.1/-
4| &8 250 A°ReR
8| drrey 100 05o0°Rey 18 85°.2/-
14| 530748y 50 afrede 18 8o°.4/ -
20 | &8 120 050°ReN

6 (DBC33)



5.

24 | S04y 70 AoeRey 18 8o°.3/-
28| &8 60 0S0eeR

Using on the information and the form given below compute the Balance sheet
items for a firm having sales of Rs.48,00,000.

Sales / Total Assets 3
Sales / Fixed Assets 5
Sales / Current Assets 7.5
Sales / inventories 20
Sales / debtors 15
Current ratio 2
Total Assets / Net Worth | 2.5
Debt / Equity 1.0

BIOD DHBB0 0D €3 - PO begééo SOSTPEBOL0HN.

eaaﬁo&s**e)o 80°.48,00,000.
ea;ﬁoés*’e)o [ oS en | 3

edysTeD / ?&))cf’@w 5

VS0 / (D8 esyen 7.5
VHYS°eD / DD 20
S0 / eveaien 15
B8 Ay 2

B0EH0 espen / AEEIeNS | 2.5
200200 / S68ced 1.0

Enumerate the limitations of financial statements.

DEBeIen 58S BB

Arun
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(DBC 34)
ASSIGNMENT 1

B.Com. DEGREE EXAMINATION, DECEMBER 2020.
Third Year

BUSINESS CORRESPONDENCE AND
REPORT WRITING
MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

Verbal Communication.

STDE S HFED0.

Communication process.

DR (S8

Communication network.

BTSSR RESHE).

Grapevine.

RODS.

Features of written communication.

OPB gD eSS0 G30E); ;ingozg OEETR0.

Appointment orders.

RASTY &K (S5E).

Basic principles of Report writing.

By KB WrEred (AAHBIBN).

Motivation.

(Des.

Explain types of communication.

WS 8



10.

11.

12.

WS 8

IS E50R0 9580H0E.

Distinguish between formal and informal communication.

EPOPR) [DPADN DBASN EP0PR [HPAIDD 5P GPHHTOR BP0 (Bren).

Explain the principles of communication.

FPH[DEH00 A300E); DODNHIDNVO[Y DHBOBOHN.

What are the advantages of intra personal communication?

FORTFSEYIS (SOBES) GRS BN, BT ETeD.

2 (DBC 34)
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(DBC 34)
ASSIGNMENT 2

B.Com. DEGREE EXAMINATION, DECEMBER 2020.
Third Year

BUSINESS CORRESPONDENCE AND
REPORT WRITING
MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

. "Effective Communication play important role in Business". Discuss.

"bbogboébgb AR PST eV N) U"Z@véoé‘s D00y ;sﬁ’:o@oa" HByowod.

Enunciate the errors in interpretation of information.

QAIPTEN FTFIIFO0WONNEE) i) HJew 1°8) DHB0HO&.

Write a job appointment letter.

67 DATERHL F000D BPO GOV,

Why written communication is more effective than oral communication?

QP JEE gPHDEHR0 oK) BB TP gD DD S0 ébogéoéfebp_éa? DHB0WH0&.

Trace out various barriers to communication and how do you overcome.

DD S0 GEHHIS €5005°00 AD? T3 DY I WKV ?

Discuss the report and what are the various kinds of report?

8288y o9 V2 D Esee 8800 DIBOWIBW.

3 (DBC 34)



(DBC 35)
ASSIGNMENT 1

B.Com. DEGREE EXAMINATION, DECEMBER 2020.
Third Year

BUSINESS DATA PROCESSING SYSTEMS
MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

Discuss about the access operator used in query.

§c58€56 access &95)86063 Q DBV é&’)o?mﬁé_géo?

Explain records and fields.

Bstaen 5080 ?pod;e)m D%BEBOBIB.

Important commands of Dbase.

Dbase &° boogpz@oa_?é g3r0&en cBoogb [@é})&%&&».

What is sorting?

Sorting e J07?

What is form printing?

Form 20630/ €95 J0?

What is formating worksheet?

JBYY, JBJ formating S F320?

File management under windows.

D0E’S® Ko pew Joderdooen.

How will you change the appearance of text?

Text B, EIH90080 I HrENTE?

WS 8



10.

11.

12.

WS 8

What is data processing? Explain the meaning and purpose of data processing.

Geor @OSDOR B9 202 TR G EHVD BB BEBIESHVD DHBOBID.

Explain the retrieving database records.

GPeTEI 8573050 8BR der D20L0erH0?

Write a procedure to print graphs.

™9 2065 Daso DEBR i,

Explain file manipulation and maintenance.

S STVHBRE BB HEIHe0 8BEBoHIDB.

2 (DBC 35)
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(DBC 35)
ASSIGNMENT 2

B.Com. DEGREE EXAMINATION, DECEMBER 2020.
Third Year

BUSINESS DATA PROCESSING SYSTEMS
MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

. Explain about the data storage files and records in data processing.

G [RPIVORS® Gres Deg BBASH 85°5001 80D JEBEBOHIN.

Explain sorting the database, sorting with sort option and sorting with index
option.

[N ﬁﬁgoﬁ, sort option & ?bsgoﬁ S08a%0 ﬁﬁgoﬁ index option 0 9$8EB0BIDW.

Explain the complete list of functions in Excel.

Excel &° Koge5 5 GBo%); (H30a0500%0 9885808000

What is spread sheet? Explain its advantages.

Spread HBK00 @S JQ? TP SSIBIHIVOK EBEBOHHW.

How can you create an Excel database?

Excel G200 e S70r0809K080?

What an the options in File and Edit menu?

200 D080 308050 AGE5 DodIeS® Ko option e ID?

3 (DBC 35)
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ASSIGNMENT 1

B.Com. DEGREE EXAMINATION, DECEMBER 2020.

Third Year
CORPORATE ACCOUNTING

MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

Purchase consideration

S50 BP0

General Insurance

DopeSes DA

Profits prior to incorporation

RAJIPEVED HDOVOED eegIeen

Significance of Accounting standards

©5°0e30 [D3Trese [rangge

Need for valuation of shares

TPT°O sﬁme)véoéaﬁ ea:)f‘éééé

Amalgamation

DOATHHD0

Internal Reconstruction

eaoégeé ?Q)X)sc‘()casséao

What is valuation of shares?

ToeT0 BT IR ?

Arun

(DBC 36)



10.

11.

Bunni Ltd forfeited 10,000 shares of Rs. 100 each, Rs. 80 per share called up on
which Mr.Ram, a shareholder paid application and allotment money of Rs. 60 per
share but did not pay the first and last call money Rs. 20 per share. Of these
forfeited shares Rs. 8,000 shares were subsequently reissued by the company as
fully paid-up for Rs. 80 per share. Give journal entries for the forfeiture and re-
issue of shares.

10,000 sreseen SDRD @ovaw arer 1 8 85°.100 578 Sorreiasn 8I°.80 $8grrRy So8atn
Be0000%) 837.60 DYoVS DD, 00¢5ed BA 38 DY K20 DoBBH. Fedio
283D DD 3353& o) 35860% 8 TIOR8 WA, &) ®oS Tered® 8,000
Tered, Teer 18 80 S0d) &8 B18B. & 3oy RS DePETD DeTHegen ErAOSL.

Explain briefly the division of share capital.

DPeT° S0P eesd K)"’BQ K00 ISBoYHBw.

From the following particular calculate the fair value of equity shares assuming
that out of the total assets 4,100 are fictitious.

(a) Share Capital : 5,500 10% preference shares Rs.100 each fully paid; 5,500
equity shares of each Rs.10 fully paid.

(b) Liability to outsiders Rs.75,000
(¢) Reserves and surplus Rs.45,000
(d) Average normal profit after taxation Rs.85,050

(¢) The normal profit earned on market value of fully paid equity shares of
similar companies is 12%

808 23070 0B Se8d Ter Bovly, AVEH (fair value) DevSid EA"H0E. Bgo

es008" 4,100 e300 ED)% esgenr groS0s.

(2) arer Jaregso : 5,500 10% e5x) Frerren 287,883 100/~ 8 308
55,000 &88ce3 amerren 287,63 10/-

(b) 20He3°8 ®Iypen 85°.75,000
(c) 6&&5 ey &°.45,000
(d) X)m&&) SEOT°E PRSI Difew ergo BI°.85,050

(€) 2B 85 Koo Sedeed arerre 138,65 Deod Qe eosa® IS Treedden 12%

Arun

2 (DBC 36)



12.

Arun

Y company issued 6% 50,000, preference shares of Rs.100 each for subscription.
The preference share moneys are payable as follows: Rs.35 on application, Rs.35 on
allotment, Rs.20 on first call and Rs.10 on second call. Mr.Yellow who holds 1000
preference shares fails to pay the amount due at the time of allotment. He
however, pays this amount with the first call money. Give journal entries in the
books of the company.

6% 50,000 Q%5 Toeren 2.8),63 8. 100 F5pd Y B0 &8 . esfsgy arere
Sorrergdy (808G Huren B8

B8P0 K35, Seranoy 87, 35, B0ed ey 83°.20 B0 98 DevHP
85°.10. 1000 Treen SDRAVR) & I, Beran0:) A=y BYoIS. SR Toere
3006563 2e0HE’ Bero0 Do K76 YoDK. WHHEROD DETHE0 A0

3 (DBC 36)
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(DBC 36)

ASSIGNMENT 2
B.Com. DEGREE EXAMINATION, DECEMBER 2020.
Third Year
CORPORATE ACCOUNTING
MAXIMUM MARKS : 30

ANSWER ALL QUESTIONS

1. A life insurance company disclosed a fund of Rs.2,00,000 and the balance sheet total
Rs.45,00,000 on 31/12/01 before taking following into consideration.

@
(1)
(iii)
v)
(v)
(vi)

A claim of 10,000 was intimated and admitted but not paid during the year.

A claim of 6,000 outstanding in the books for 8 years.

Interest on securities accrued Rs.800 but not received during the year.
Rent on own building occupied Rs.2,000

Premium of 600 is payable under reinsurance

Re-insurance recoveries 26,000

(vi1) Bonus utilized in reduction of premium Rs.10,000 and

(viil) Agents commission to be paid 8,000.

Pass the necessary journal entries for the above omission. Recomputed the fund
and show the balance sheet total after making the above adjustments.

28 88 DI Sog G808 T8 BruEE5wot 31.12.01 I 657.2,00,000 508050
e33) @) H63 go 7. 45,00,000 BOHER0E.

@
(1)
(ii1)
(v)
W)
(vi)

&3 9058y5:5206° 10,000 Foowo BOAHED oREB0DISYEIS BOS® BYoISEHH
K& 8 Sodeyorom0d 30Dy 6000 FoK 8K BAd

257830 380D $G 800 H0He8y5H006° 0000S® Skiren SPBE
31500 AP0 IHI0 eﬂg 8o, 2,000

@aéaw HRE) 1808 &, 600 DYoBEIB

@ééaw Saoeen 8. 26,000

(vii) 2P0 SROY™ DIWBIROVS &30 &3°. 10,000
(viii) BoTdyd JBosy EWBS 8. 8,000

2 DI DeTBEeD 7R, A HBR B8) 00 D J&ee) BLT°ES es) SNE 563
o [ ™ [N Q o Q ™ -0 [H)

5&)@"_;3)&
50808,

(DBC 36)



2.

Using the following data, complete the balance sheet given below:

Gross profit Rs.54,000
Share holders equity Rs.6,00,000
Gross profit Margin 20%
Credit sales to total sales 80%
Total assets turnover 0.3 times
Inventory turnover 4 times
Average collection period (a 360 days year) | 20 days
Current ratio 1.5
Long term debt to equity 40%

Balance Sheet
Creditors Cash
Long term debt Debtors
Share holders equity Inventory

Fixed Assets

568065 BIED BATTEB0E €33 IO 63D SAHBALBO

Aoerssin 8o°. 54,000
DEPWETO Toer g°. 6,00,000
nge) €3°23B°E900 20%

oo iyses’ ety viysen 80%

oo esde 26%58 0.3 36
aRc0608 8736 43ep

RSHED SRy DAHIW 20 &aren
(S058y0°R8 360 Eareorr grAoBHBI)

SRes Dy 1:5

BEsDE ey / e8ged 40%

€39 XN $e38
] [o3]

200089T°HeD Talad)

éogvé)é ©dy 20083 |f)en

TR Deyads aésowé
DS e
@ -0

What are the legal provisions relating to preparation of final accounts of banks?

a)‘°§o§3 SR BE)e0 SA° Bof0rE) H02080 DD DeosHen e ?

Arun

(DBC 36)
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4.  The following balances are created from the books of ABC Bank Ltd as on 31/03/17.
Prepare profit and loss A/c as per the Banking Regulation Act.

Particulars Amount Rs.
Profit & Loss A/c (cr) 80,646
Printing & Stationery 6,780
Directors Fees 9,960
Audit Fees 2,000
Interest & Discount 4,20,446
Commission 2,04,450
Postage 2,306
Rent and Taxes 17,000
Salaries 84,300
Legal Expenses 3,300
Contribution to Employee Provident fund 20,000

Other Information:-

(a) Depreciation is to be charged on Land and Buildings at Rs.16,000 and on
Furniture Rs.7,000.

(b) Create a provision for bad depts Rs.2,20,000
(¢) Rebate on bills discounted is Rs.30,000
808 dtren ABC 2150 dEED $02080d9D 31.03.17 & 08508 S05T20°08

25080 Dao|Bes 340 (580 ergfdpe Alc o Saedd Jabod.

DiSoeen dowdo (85°.)
oregsSape Ale (B&e) 80,646
Boo(es, Pd 6,780
@053 ver 9,960
esGed Sew 2,000
5 58010 Gdm 06 4,20,446
SV 2,04,450
SR 2,306
eag, Zoéo&e» 17,000
Beren 84,300
DgODIEZ0% By 3,300
&8y 23RBS 3oy 20,000
2B DIT°eD

(2) D, FHTOP e, 16,000/ SB0 $8IEP 87,000/ SHHES domen

a9

(b) o ar8e DGF 8. 2,20,000/- o=y BoLrd
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© Depo Edr,0e0p B0 8. 30,000/-

What is meant by Bonus shares? When the bonus shares were issued?

SO0 ToeTe0 BRTPRN ? T3 Dy &8 DeH?

Define share valuation. Explain its need, impact of earning and growth valuation.
e B0 B0, TR BIFES, SEI0D (D00 S0B0%0 e B0 @é)&ﬁe)g
KJ"BQ DHBoHHo.
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ASSIGNMENT 1

B.Com. DEGREE EXAMINATIONS, DECEMBER 2020.

Third Year

ADVANCED MANAGEMENT ACCOUNTING
MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

Difference between Financial accounting and Management accounting.

Arun

(DBC 37)

Dres 857030 DBA PTANONS ©F0e3oh (DY ©F0edof) WEsie Bmro

1.  Functions of Management accounting.
DBEed 30300 Déoen
2.  Fixed Budget
NB0GS
@ 3
3.  Marginal costing
357836 s°Q0N
i~} (]
4.  Types of working capital
K)Ut'ogt’&e@ 0TPOEN0 B5Pen
5.  Break Even analysis
B35 863 Ded
6. Idle time variance
ée)qs"sw;i» EABnTolor)
7.  Cash flows from financing activities
385 5285 3°g0° SR (570700
@
8. Management Information system.
K)CﬁogKPS'a IS INSaEniled 55356.
)
9.
DSBoHS0.
10.

From the following particulars compute the following

(a) Material Cost variance
(b) Material Price variance

(c) Material usage variance

Standard
Materials Quantity

Actual
Materials  Quantity

Price per



units per unit units unit
X 1240 34 X 1250 35
Y 1180 40 Y 1180 38
Z 1430 28 Z 1440 27

551808 D500 o0& EIBOHS DSBerOR B8,0308.
(a) e38aHS 30D DIBen

(b) e3BaHS &8 DSSes

(€) D0e3BoHS DI@K DSea

DeRIeE35500
BT BA N N
20638005
QTP
X 1240
Y 1180
Z 1430

PRI
SBITERR  aoeded
SHDE 55 eBANS
a7 &5
34 X 1250 35
40 Y 1180 38
28 v 1440 27

Arun

11. Prepare a flexible budget for the production at 80% and 100% activity on the basis

of following information.

Production at 50% Capacity 6000 units

Raw materials
Direct Labour
Direct Expenses
Factory Expenses

Rs.30 per unit
Rs.28 per unit
Rs.18 per unit
Rs.60,000 (40% fited)

Administration Expenses Rs.1,20,000 (70% variable)

81808 380 esprdore 80% 08050 100% @vaﬁogago e ééeo%esf‘() SO Iahod.

50% Ag50 5 653
e380HS

(9858 STren

(DSB8, PBoyew

@végé LD

DBT7ed PN

6000 afoeeden

8o°. 30 0re5d

8oe. 28 0ee58
8r°.18 0%ure5d

85°. 60,000 (40% 28)
85°.1,20,000 (70% <35)

12. What is budgetory control? Explain briefly its advantages.

058 DaHoes VRTPIN? T BN, (HATETOR LIom IHB0S0é.
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ASSIGNMENT 2
B.Com. DEGREE EXAMINATIONS, DECEMBER 2020.
Third Year
ADVANCED MANAGEMENT ACCOUNTING

MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

1. Distinguish between cash flow statement and funds flow statement.
SHED [T DBBELD 508050 DG (Har VL B0Esg ST O DS3BoS0s.

2. The sales and profit during the years were as follows.

Year Sales Profit
2016 2,40,000 30,000
2017 2,70,000 42,000

Calculate :

(a) P/V Ratio

(b) BEP

(¢) Profit when sales are Rs.1,50,000

(d) Sales required to earn a profit of Rs.57,000.

808 BoseTrod’ iysTen S08aw ergren & (808 DEore GI%omw.
éo;ﬁé{bém wm&s”en e3°2I°e0

2016 2,40,000 30,000
2017 2,70,000 42,000
881808 7°e3D B§),0F0é.

(@ PV 958

(b) BEP
() edysten 85°.1,50,000 &06&3 €850 Does ?

(d) . 57,000 ergfo &oé3 O3Y5"e0 IO ?

3.  What is standard costing? How it is helpful to Business firm in Decision making?
Pe3r38 @9°0e30R eITTrRW? Do (DedoredE e oe3on TSR0y dYATed

DEH%oS  HIfoho Do ?

4.  Define working capital? What are the factors influence determination of working
capital?
DBTEd SO0 36500150&? Q Se8eTen QBETEd TP X)cgde'ac‘éo [e7es0

Drd@r  S°006.

5.  The following is the balance sheet of a limited company on 31st December 2016 and

2017.
Liabilities 2016 2017 Assets 2016 2017
Share Capital 70,000 74,000 Bank 9,000 7,800
Debentures 12,000 6,000 Debtors 14,900 17,700
Creditors 10,360 11,840 Stock 49,200 42,700

Arun
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Provision for doubtful 700 Land 20,000 30,000
800
debts
Profit and loss A/c 10,040 10,560 Goodwill 10,000 5,000
1,03,100 1,03,200 1,03,100 1,03,200

Additional Information:

(a) Dividend paid 3,500 during the year 2017.

(b) Land was purchased for 10,000

(¢) Debentures 6,000 were redeemed during the year
Prepare Cash flow statement.

28 OWBE Ko oY), e eSpo Seden 31.12.2017 3 (808 DEOMT &T\00.

Jen 2016 2017 esyen 2016 2017
DPIPOTCOP 0 70,000 74,000 2°50% 9,000 7,800
GBosE) 12,000 6,000 @wsfen 14,900 17,700
2O0ERTIES D 10,360 11,840 S dog 49,200 42,700
Qdogaires 28008 700 800 &~ 20,000 30,000
gIdLO P 10,040 10,560 &S 10,000 5,000
1,03,100 1,03,200 1,03,100 1,03,200

9B RSP 80

(@) 2017 $ J058y808° 3QodN EDGoLw 3,500

(b) 3000 10,000 0% ST

(©) & R038y50 6,000 EBOBED BP0 VAT
DK PPIrIIBES S0 Sabod.

6.  Following data relate to XYZ company.
Normal Capacity 40,000 units per month.
Variable Cost per unit Rs.6
Actual production 44,000 units.
Sales 40,000 units @ Rs.15 per unit.

Fixed manufacturing overhead Rs.1,00,000 per month or Rs.2.50 per unit at
normal capacity.

Other fixed expenses Rs.2,40,000 per month
Prepare Income statement under absorption costing.
1808 XYZ 028 5020808 Sduemeso.
v atarlefor) av;i)géo J0¥ 40,000 cedeR
S8550H0 AHITESS E3°.6
TRV B 44,000 ATVey
e3ys~en 40,000 0L°ER @ AHIESS 8715
QOGS L35IrE DD 83°.1,00,000 Ba> Fgrdes FrE50 HE ADrAS 8. 2.50

RSB PLyEO IO &°. 2,40,000. 9083 PR exEBorT esrah AIBED (esea3e3)
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